Subject: Re: Wrong particle in FillList
Posted by MartinJGaluska on Fri, 16 Aug 2013 11:02:09 GMT

View Forum Message <> Reply to Message

Quote:

Again, McMatch object is not working, but the montecarlo indices are properly propagated and
can be used to show efficiencies (GetMicroCandidate()->GetMcIndex()). At least, | have seen
plots and number satisfactory using the McIindex and aprl3, w/o McMatch object.

Hello Stefano,
Simon and | just had a discussion on what the suggested method of determining efficiencies is
(for release aprl3). It seems we both understood it differently. Could you please clarify it a little

more (possibly with a few lines of example code)?

Thank you,
Martin
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